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ffi : F,s yFr-q;r s-r 3-rR eihl rn ffi ffi q6 i1;sr

ti €tqq; Afuq €S rilri qil qqq qq' Ei d-rT

irrtdq I

Attempt any Five questions.

z1l/ questiorrs carry equal marks.

ffi qfa e-Fii * sn{ frfqt I

Rfr y{rl * si66 qqn t I

(u) What is production possibility curve ? Explain the

attainable and unattainable combinations with the hetp

of PPC.
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(b)

\Q)

(b)

\a)J.

(?\ ({$l

gFTrtrr {ryaa1 qm' flr t ? ppc 4m' q1 sdrcdl

Q qrq 6-G fr.q dql flq q-{i * frq q+q

ri*'ii e1 qrem 6ifqq I

What are the main deterrrtinants o1' derrtand 1 9'6

dq q1 frqiRd m.{i qT-A sgq s'rc+' dtq-dnt

6l

lf due to l0 percent increase in the price of a cornmodity

quantity demand decreases by l6 perccnt, calculate the

price elasticity of demand.

qR q* qq q1 *iqd ii 10 qfuYrd qf;s Ai t
Tsfr1 Ef'T 16 qfu{rd q.-q A qt-fi t, d ss qq

* fuq qiT q? qiqd dq FId qifry |

Detrne incotne and cross elasticitl' of demand' 9.6

d'r q1 s4-q rTeil ffir d-q q] qRsrTfud oifqq t

What is indifTerence curve ? What are the properties of

indifference curve ?

3il{FrqTq Ers FIl } I ercftran qs' 41 ms-d[(

d6-q;;as1 6 ?



(b) Derive tlie

good.

(j) 6(f I

pricc cotrstttrlptiotl ctlrve (l'CC) tilr a nortllal

8.7

qd €IETfq 4q * leq qiq-d sqfFr q-fr sT t{s,qq

6ffqq I

1rr) Explain the lau' ol' r'aliable pfoportions

!fisftid $r-JqTd * fiflq e1 a+cm sifq\ I

(b) Derive tlte long-t'trn avcraqe cost curve rvith the hclp o1'

6.

sltort-run avcrage cost ctlrves' 7.8

3r-fl-*Tafr'{ eiru-d.iT-'l-d qfi s1 s6r+f,I t <ttrdl€}q

3fnra €Irrd qln 4l frsqrT dfsq

(a) Ilxpain thc rla.ior ttatures of pertectll colllpetitive

rlarket.

$ mmrm urwn

qifsq I

e1 qq Rsil3ii 4-r quf{

(b) Derive the long-run supplv curve ot'conrpetitive

industrl' when the cost of production is increasing and

dect'eastng. 5. r0

q-.dA qE qai sflIfi drrrd 41 frqRr ii eft+fr

s*q ol ffiq {fd em 51 fasqol qifqq I

Using suitable diagranrs explain the short-ruri and long-run

eouilibrium of a ljnn in rnonopolistic competition' 15

sft*Frd.r ii qq. q-C or ere-o-rot+ qq

Eiffi{ rigf,n di t€Tfua Em qr@n dfq\ |
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1. (rr) Criticalll'analyse the theorl' of cotlrparative ctlst

advalltage '

siH[eq-6olradlg{f{T6i-dq}3rTd-fiTiq_6qI.€ITT
6ltqq I

(b) What arqLl nlents rvottld you give in tavour of

Protectionisr.l.r ? 9'6

drq{'{-{rE d cq q- qlc 4i{-4}Ti a-d q-fl

FTTi ?

8. Write short tlotes on an) 1)r'o of the follorving : 7'5'7'5

(u) [,arv of eqtri-rrlarginal utility'

(lr) Econotnic rent

(c') Social cost of nlonoPoly'

(,0 Public goods'

tmioFsn i t ffi d'n rifqq ffi tdfisq :

(er) *rq-*qr< $FiFT-dT iTqq

(q) 3Tnqm' dtnq

(€) q+flr*Tft aft sqffim onra

(E) eT-ffi{6' qq I
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